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[ OVERLAPPED m_OverlappedRead, m_Over lappedWrite.//[]
00O 0 O void
CSerialAPIView::OnlnitialUpdate(){CView::OninitialUpdate().Ch
ar szComParams[50].DCB dcb.Memset(amp.m_OverlappedWrite,
0, sizeof (OVERLAPPED)).m_hIDComDev =
NULL.m_hIDComDev = CreateFile(* COM2”
GENERIC_READ| GENERIC_WRITE, 0, NULL,
OPEN_EXISTING, FILE_ ATTRIBUTE_NORMAL

| FILE FLAG_OVERLAPPED, NULL).if (m_hIDComDev ==
NULL){AfxMessageBox(“ Can not open serial port!” ).goto
endd.}memset(amp.m_OverlappedWrite, 0, sizeof
(OVERLAPPED)).COMMTIMEOUTS
CommTimeOuts.CommTimeOuts. Readlnterval Timeout=0

X FFFFFFFF.CommTimeQuts. Read Total TimeoutMultiplier =
0.CommTimeOuts. ReadTotalTimeoutConstant =



0.CommTimeQOuts. WriteTotal TimeoutMultiplier =
0.CommTimeQuts. WriteTotal TimeoutConstant =
5000.SetCommTimeouts(m_hIDComDev, amp.dcb).dcb.
BaudRate = 9600.dch. ByteSize= 8.unsigned char ucSet.ucSet =
(unsigned char) ((FC_RTSCTSamp.FC_RTSCTS) ! =0).ucSet =
(unsigned char) ((FC_RTSCTSamp.dcb)

I 1SetupComm(m_hIDComDev,10000,10000)

I m_OverlappedRead. hEvent ==NULLIl m_OQOverlappedWrite.
hEvent ==NULL){DWORD dweError = GetLastError().if
(m_OverlappedRead. hEvent '= NULL)
CloseHandle(m_OverlappedRead. hEvent).if
(m_OverlappedWrite. hEvent '= NULL)
CloseHandle(m_OverlappedWrite.
hEvent).CloseHandle(m_hIDComDev).}endd:.} 100Test J I [0 [
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